
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

EI9033-
07 15.08 ei920gd Z 05-NOV-99

Engines

6C8.3, C GAS PLUS CM556, G8.3, G8.3 CM558, GTA8.3 CM558, ISC CM2150, ISC CM554, ISC CM850, ISC8.3
CM2250, ISC8.3 G CM2180 C101, ISL CM2150, ISL CM554, ISL CM850, ISL G CM2180, ISL8.9 CM2150 L110, ISL8.9
CM2880 L112, ISL9 CM2150 SN, ISL9 CM2250, ISL9 CM2350 L101, ISL9 CM2350 L111, ISLE4 CM850, L GAS PLUS
CM556, L8.9, L8.9 L121, L8.9G CMOH2.0 L125B, L9 CM2350 L116B, L9 CM2350 L119B, L9 CM2350 L120C, L9
CM2350 L123B, L9.3 L105, L9.5 L117, L9N CM2380 L124B, QSC8.3 CM2250, QSC8.3 CM2880 C102, QSC8.3
CM554, QSC8.3 CM850(CM2850), QSL9 CM2250, QSL9 CM2250 L115, QSL9 CM2350 L102, QSL9 CM2350
L107, QSL9 CM2350 L118, QSL9 CM2350 L122, QSL9 CM554, QSL9 CM850(CM2850), QSL9 G CM558, QSL9 M
CM2250 L106, QSL9.3 CM2880 L113

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  EI9033-07 Engine Instruments  Instrument, engine (intake...(More)

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('ei920gd','/rtgraphics/english/parts/ei/9/ei920gd_sm.png');
javascript:swap_img('ei920gd','/rtgraphics/english/parts/ei/9/ei920gd_md.png');
javascript:swap_img('ei920gd','/rtgraphics/english/parts/ei/9/ei920gd_lg.png');


     heater control)

     Speed Sensor Connection:

     Packard required alternator

     amperage: 105

     Contains electrical intake

     air heater

     Control module, magnetic

     switches,

     Wiring harness, bracket and

     mounting hardware.

     For use with 12volt "C"

     Series engines with non

     isolated electrics.

      

1 70446 Hexagon Head Cap Screw 4 1/4 - 20 x 1/2 in.

2 109144 Hexagon Head Cap Screw 4 1/4 - 20 x 1 in.

3 107460 Clip 1  

4 3613547 Temperature Sensor 1 Intake Manifold

5 3901249 Hexagon Flange Head Cap Screw 2 M12 X 1.75 X 25.

6 3916301 Magnetic Switch 2  

7 3918363 Mounting Spacer 4  

8 3919368 Wiring Harness 1  

9 3921277 Heater Control Module 1  

10 3897192 Control Bracket 1  

11 3922154 Wiring Harness 1  

12 3921790 Wiring Harness 1  

13 3897740 Resistor 1  

14 3278425 Regular Hexagon Nut 1 M6 x 1.00

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

